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2-4: Solving Multi-Step Equations

EXERCISE 1

SHOPPING Hiroshi is buying a pair of water skis that are on sale for %_cithe original price. After he
uses a $25 gift card, the total cost before taxes-g$1 15. What was the original price of the skis? Write
an equation for the problem. Then solve the equation.

Words: two-thirds of theprice minus 25 is 115.
Variable: let p = original price of the skis.
. 2
Equation: 3 . p - 25 = 115
2 . .
Solve: §p -25=115 original equation
+ O b
%p-25+25= 115 + 25 Addition ?royev+3
Addtive Idem H-B,
2 . . . .
3P =140 Substitution I S\ mel-%

rmult iPQ\'coj'\VQ nuewrse,

%[% p] %(140) ™ U/Q:h'Pan catromn Propex -\%
210 Substifuhion I/SI'MPQ.\'-%

p

Answer: The original price of the skis was $ 2 \ O

1A. RETAIL A music store has sold % of their hip-hop CDs, but 10 were returned. Now the store

has 62 hip-hop CDs. How many were there originally? X=C Ds
S _3 2

S < S - CcOs "Qmw.'.m'mj
whofe - SofRd. o
T X+10 =62

HyHO =L
v -0 | -0

= T

A=130
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1B. READING Len read % of a graphic novel over the weekend. Monday, he read 22 more

pages. If he has read 220 pages, how many pages does the book have?

= PC-.3Q%

OI5p=I(23
3 _ o5 075
§ P +2e=220 P= 20y

=220
CToptgs <%

O.15p = 19%

Consecutive integers are integers in counting order, such as 4, 5, and 6 or n, n+1, and n+2.
Counting by two will result in consecutive even integers if the starting integer n is even and
consecutive odd integers if the starting integer n is odd.

TYPE WORDS SYMBOLS EXAMPLE
Consecutive Integers that come | n, n+1, n+2, ... -2,-1,0,1,2
integers incountingorder. Go upmbu pnes
Consecutive Even integer ' <
even integers followed by the next | n, n+2, n+4, ... .,-2,0 24, ..
even integer. Go up by twos
Consecutive Odd integer ’ <
odd integers followed by the next Gn.,c;1+2, n+4, +w .-1,1,3,5, ..
. odd integer. _ op b (33
Consecutive c*«>vnsec:u-n§eo_Es consecotive
ntegers even integers odd integers
+1 +\ +2 +2 +2 +2=
4 | > (1 [l Il 2
O12 34 OC1234Ys 0 D123 45y

N=Is+ \'n'\'eaer

ny2+2= N+4

N¥2+2=naM
= 3rd odd int

= 3rd ewen int

11
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Write an equation for the following problem. Then solve the equation and answer the problem.

Find three consecutive odd integers with a sum of -51. Go (& p blj 2

Let n = the least (smallest) odd integer. ( | s v od +
2nd odd ¢ 43 (3rd odd)
Then, n+2 = the next greater (bigger) odd integer, and n+4 = the greatest (biggest) of the three odd
integers.
Words: The sum of three consecutive odd integers is -51.
(I1stodd) + (2nd odd)+(3cd 0dd )
Equation: n+ (n+2) + (n+4) = -51,
Solve: n+(n+2)+(n+4)=-51 original equation
3n+6=-51 Combined Xigg—igrms
3n + %<6 = -51-6 Qbtraction proper+
3n=-57 sdytute / Si ‘
n Subsiitu oM | mpRs Q_
: divisien propes
n=-19 Su bSh"fU“‘l'm!Sim?Q; %
Ifn=-19,thenn+2=-’|9+2=-| l andn+4=-19+4='|5 .
Answer: The three consecutive odd integers are~ I'*'\ = | 1., and=1S .

2A. Write an equation and solve the problem.

Find three consecutive integers with a sum of 21.

N isT m’reclex
Nt (= 2nd n\‘rQSQx-
N+2=3rcd in’fQjQr

\sT = (o

A~

3o by |

(et + @2nd )+ Grd)= 2|
N A+N+)l yN+2=2)
A+ =21

v ol s

20d.:= o= 7]
wd=br2=9 ”

\

N

Nn=06

\

he m-\-Qge\' S axe
e,7, 3.
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2B. Write an equation and solve the problem.

Find three consecutive even integers with a s:d—m of 84. G‘O Vv (‘> bs 2
N= st even

(157 even)+ (2nd even) +(3rd even)=§4
N+2=2nd even N+ Ny + Ny =Y
N+4= 3cd Quen
3N +§&=?ﬁ
- \ -

IST Quen= 2o

2Znd Quen=2+2=2% % =73
3rd euen=2b+4= 30 3

N=20b

The comsecuviive
euen m-\e%nrs axe,
26,28 30
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